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Question Number : 1 Question Id : 1815207713 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None

PART A

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correctly spelt word:

Options :

occasion
1.

occassion
2.

0

90

No

No

0

100

No

Cant View
No

181520114
1

Online
Mandatory
92

92

100

Yes

0

1
181520138
Yes

null



ocassion

occazion

Question Number : 2 Question Id : 1815207714 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these words is NOT spelt correctly?
Options :

embarrass

liaison

cemet
3.9 ¥

millennia

Question Number : 3 Question Id : 1815207715 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correctly spelt word:

Options :

minuscule
1. #

maintainance



consciencious
3. %

4 acquiesce

Question Number : 4 Question Id : 1815207716 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
|dentify the sentence with the correct punctuation.
Options :

That tall boy, Pallavi's cousin, is this years Arjuna awardee.

That tall boy, Pallavi's cousin, is this years' Arjuna awardee.
2. %

> That tall boy, Pallavi's cousin, is this year's Arjuna awardee.

4w That tall boy Pallavi's cousin, is this year's Arjuna awardee

Question Number : 5 Question Id : 1815207717 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
|dentify the sentence with the correct punctuation.
Options :

Y “Why didn’t you ask me? | would have told you!” said the teacher.



“Why didn’t you ask me, | would have told you!” said, the teacher.

2. %

“Why didn’t you ask me? | would have told you.” said the Teacher.
3. %

“Why didnt you ask me? | would have told you,” said the teacher.
4. %

Question Number : 6 Question Id : 1815207718 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the word closest in meaning to the word "momentary”.
Options :

eternal
1. &

) ephemeral

perpetual

permanent
4. %

Question Number : 7 Question Id : 1815207719 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
“You are lying.” she said dispassionately. ‘Dispassionately’ means

Options :

unemationally
1. ¢



angrily

harmoniously

gregariously
4. &

Question Number : 8 Question Id : 1815207720 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the antonym of the word “bizarre”.
Options :

peculiar
1. %

outlandish

weird
3.

banal

Question Number : 9 Question Id : 1815207721 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pick the odd one out:

Options :



thoughtless

1. %

aimless

3 priceless

meaningless

Question Number : 10 Question Id : 1815207722 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following means ‘incapable of making mistakes or being wrong'?

Options :
indelible
1. %
infallible
illegible

indecipherable

Question Number : 11 Question Id : 1815207723 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is a ‘a group of vehicles or animals travelling together on a long
journey.’
Options :



caravan

circus

horde

congregation

Question Number : 12 Question Id : 1815207724 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A(n) is an indirect reference to something.
Options :
illusion

delusion
2. #®

confusion

4 allusion

Question Number : 13 Question Id : 1815207725 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Zakir Hussain is an tabla maestro.



Options :

illustrated
1. &
illustrious
3 illuminated
illusive
4., %

Question Number : 14 Question Id : 1815207726 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“You are in the trainer's good books.” This sentence means

Options :

Your books are shown as good examples by the trainer.

The trainer has a good opinion of you.

The trainer expects you to read good books.

The trainer mentions you in good books.
4. %

Question Number : 15 Question Id : 1815207727 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Last year, the University students the national football championship.

Options :

won
1. ¥

have won

had won
3. #®

wele won
4. %

Question Number : 16 Question Id : 1815207728 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What you do if you thousand rupees on the road?
Options :
would, find
l. ®
will, found
2.3

would, found
3.¢

will, found

Question Number : 17 Question Id : 1815207729 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The hungry lions wandered search prey.

Options :

into, for
1. %

for, of
2. %

in, of
3. ¢

on, for

Question Number : 18 Question Id : 1815207730 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following phrases correctly:

a. My respect Lol ...
b. In accordance ii. towards ...
c. With respect jii. to ...
d. lrrespective iv. with ...
Options :
a-iii, b-iv, c- i, d-ii
1. %
a-ii, b-iv, c- iii, d-i
2.¢

a-iv, b-i, c- ii, d-iii
3. %



a-ii, b-iil, c- i, d-iv

Question Number : 19 Question Id : 1815207731 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Either the suspect or the witnesses lying.

Options :
are

was

has been

Question Number : 20 Question Id : 1815207732 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

When | telephoned her, she a movie.

Options :
is watching

watched
2. ®



was w i
3 ¢ as watching

has been watching
4. %

Question Number : 21 Question Id : 1815207733 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Last month, the committee divided in their opinions.
Options :
is

1. %

has been

was

4 were

Question Number : 22 Question Id : 1815207734 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“She has not published her book yet”. Which of the following is the correct
passive form of the sentence?

Options :

| Her book was not published yet.



) Her book hasn't been published yet.

Her book hadn't been published yet.

3. %

A Her book is not published yet.

Question Number : 23 Question Id : 1815207735 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“The poem is being recited by the little girl.” Change this sentence into active
voice.

Options :

v The little girl is reciting the poem.
l. -

The little girl was reciting the poem.

2. %
; The little girl can recite the poem.

The little girl had been reciting the poem.
4. %

Question Number : 24 Question Id : 1815207736 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the part of the sentence that has an error in it.
My father is thinking that | should work hard if | wish to succeed in life.

Options :



My father is thinking
1.¥

that | should work hard

if | wish

to succeed in life

Question Number : 25 Question Id : 1815207737 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

|dentify the part of the sentence that has an error in it.
This Chinese device is the most unigue in the market.

Options :
This

1. %

Chinese device is

2. %

the most unique
3.¥

in the market

Question Number : 26 Question Id : 1815207738 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



|dentify the correct sentence.

Options :

He returned back the library book yesterday.
1. %

He has returned back the library book.
2. %

He was returned the library book yesterday.

P He returned the library book yesterday.
4, ¥

Question Number : 27 Question Id : 1815207739 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Spot the error in the following sentence.
(1) Neither of the (2) five accused (3) was convicted (4) in the assassination case.

Options :

(1)

1.¥



Question Number : 28 Question Id : 1815207740 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following parts to make full, meaningful sentences:

a. He is reported i. to meet you.
b. This must be done in order ii. to the whole country.
c. This will bring discredit jii. to reclaim lost property.
d. It is a pleasure iv. to have died in another country.
Options :
_a-ii, bHii, c-iv, d-i
l. %
a-iv, b-iii, c-ii, d-i
2.
a-iv, b-i, c-ii, d-ii
3. %
4 s a-iii, b-ii, c-i, d-iv

Question Number : 29 Question Id : 1815207741 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following:

I. conform a) from
ii. devoid b) in

iii. infer c) for
iv. optimistic d) to

v. proficient e) about
vi. substitute f) of

Options :



(ira (i)d (ii)c (v)f (V)b (vi)-e

1. %

. (i-d  (ii}-a (ii)c (iv)-f (v}-e (vi)}-b
(i-d  (i)}-f (ii)}-a (iv)e (v)-b (vi)-c

3.9

. (iy-d  (ii}-a  (ili)-b (iv)-f (v)-c (vi)-b

Question Number : 30 Question Id : 1815207742 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| have little patience. What does the underlined expression mean?
Options :

very less
1.v

some

much

nil

Question Number : 31 Question Id : 1815207743 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Neither the principal nor the teachers punctual to the parent-teacher
meeting.

Options :

are
1. &

isn't

were

Question Number : 32 Question Id : 1815207744 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Every week she her grandparents.
Options :
{ % visited

visits
2.9

will visit
3. #

was visited
4. %

Question Number : 33 Question Id : 1815207745 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
When she reached the bus stop, the bus
Options :
had left
1. v

has left
2.8

have |eft

was |eft

Question Number : 34 Question Id : 1815207746 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
For the Farewell day, | had not prepared a speech, so | had to

Options :

improve
l. %

improvise

extempore
3. %

impromptu
4. %



Question Number : 35 Question Id : 1815207747 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

She knew the secret, ?

Options :
isn't it

wasn't she

3 didn't she

doesn’t she
4. #%

Question Number : 36 Question Id : 1815207748 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
He studied. No wonder, he failed the test.
Options :

mostly
1. %

hardly

hard

much



Question Number : 37 Question Id : 1815207749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rearrange the words to form a sentence.
friends i She are and.
1 2 3 4 5

Options :
1,3.5,2.4

1,5,3,4,2

2,5,3,4.1

3. #®

3,5,2,4,1

Question Number : 38 Question Id : 1815207750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Rearrange the words to form a sentence.
museum are going we to When the ?

1 2 3 4 5 6 7

Options :
1.2.3.4.5.6.7

1. &

6,234,715

2. %



6.4,2.3,5.7.1

3.0%

6,24,3,5,7,1

Question Number : 39 Question Id : 1815207751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following sentences has the correct word order?
Options :

A journey of single step begins with a thousand miles.

A journey of thousand miles begins with a single step.
2.¥

A single step of journey begins with thousand miles.
3. &%

Thousand miles begins with a single step of journey.
4. %

Question Number : 40 Question Id : 1815207752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Rearrange the sentences to form a paragraph:

i) Attracted by cheap loans from pesticides traders and the prospect of a quick
buck, they borrowed heavily to raise cotton on small plots of land.

i} As many as 60,000 small farmers in the region of Andhra Pradesh, southern
India, have taken to farming cotton instead of food crops.

i) Most of the farmers are extremely poor.

iv) Some 20 of them have recently committed suicide by eating lethal doses of
pesticide.

Options :
I dil,iv,i
1. %

5 g bil,ivii

3 i, i

\AIRITN

Question Number : 41 Question Id : 1815207753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is a Middle English work ?
Options :
Beowulf

l. ®

Annus Mirabilis
2. %

Campaspe
3. %



Piers the Ploughman

Question Number : 42 Question Id : 1815207754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
set up the first English printing press in 1476-77.
Options :
William Langland

1. %

William Caxton
2.9

William Herbert

John Wycliffe
4. %

Question Number : 43 Question Id : 1815207755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Thomas Malory's Morte D’Arthuris a

Options :
ballad

1. %

) prose work



poetry collection

play

4. %

Question Number : 44 Question Id : 1815207756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the inns do Chaucer’s pilgrims to Canterbury first meet?
Options :

the Boar's Head

the Tabard
2.

the Buck's Head

the Angler's Rest

4. %

Question Number : 45 Question Id : 1815207757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which Shakespearean character speaks these lines: "It is a tale told by an idiot,
full of sound and fury, signifying nothing.”

Options :

L Macheth



Hamlet

Cordelia

Lear
4. %

Question Number : 46 Question Id : 1815207758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Francis Bacon described his essays as “dispersed

Options :
meditations
1.

contemplations
2. %

3 » Ponderings

deliberations

Question Number : 47 Question Id : 1815207759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these is a 'speech for the liberty of unlicensed printing'?

Options :



Commonplace Book

1. %
Areopagitica
3 s Paradise Lost
N Samson Agonistes

Question Number : 48 Question Id : 1815207760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sir Roger de Coverley, the fictional character, was a(n)

Options :
duke

earl

baronet
3.9

viscount

Question Number : 49 Question Id : 1815207761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wordsworth's "Daffodils® begins with the line



Options :
If Winter comes, can Spring be far behind?

1. %

| wandered lonely as a cloud
. The curfew tolls the knell of parting day
\ The paths of glory lead but to the grave

Question Number : 50 Question Id : 1815207762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Preface to Shakespeare is a work of literary criticism by

Options :
| Dr. Samuel Johnson

Ben Jonson

Samuel Pepys

3. %

Samuel Coleridge
4. %

Question Number : 51 Question Id : 1815207763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Who used the term ‘negative capability’ in a letter written to his brothers?
Options :
T S Eliot

1. &

Philip Sidney
2. &%

John Dryden

3. %

John Keats
4.

Question Number : 52 Question Id : 1815207764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which year was The Wasteland published?
Options :
1914

1. &

1918

1922

1939

Question Number : 53 Question Id : 1815207765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In which of the following poems does the line, "Oh! lift me as a wave, a leaf, a
cloud!” occur?

Options :
“Kubla Khan”

1. &

‘Ode to Autumn”

2. #®

“‘Ode to the West Wind”
3.9

‘Daffodils”
4. #

Question Number : 54 Question Id : 1815207766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Wessex novels are associated with

Options :

Jane Austen

Henry Fielding

Walter Scott



Thomas Hardy

Question Number : 55 Question Id : 1815207767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Currer Bell was the pseudonym of
Options :
Charlotte Bronte
1.v

Emily Bronte
2. %

Anne Bronte

George Eliot

4. #

Question Number : 56 Question Id : 1815207768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
On Heroes, Hero-Worship, and the Heroic in History is written by
Options :

L Thomas Carlyle

Thomas Shelby



Thomas Dekker

Thomas Nashe
4. %

Question Number : 57 Question Id : 1815207769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these novels does NOT employ the epistolary narrative technique?
Options :

Evelina
1. #

Pamela

Persuasion
3.%

Clarissa

Question Number : 58 Question Id : 1815207770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these novels has a picaresque element?
Options :
Jane Eyre

1. %

5 Pickwick Papers



Wuthering Heights

Jude the Obscure

4. %

Question Number : 59 Question Id : 1815207771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following sonneteers in English in chronological order:
1. Dante Gabriel Rossetti

2. Philip Sidney
3. Elizabeth Barrett Browning
4. William Wordsworth
5. William Shakespeare
6. John Donne
Options :
2,5,6,4,3,1
1.¥
4.2.6, 1,3, 2
2. %
1,3,.2,4,6,5
3. %
2,4,3,6,1, 5
4. %

Question Number : 60 Question Id : 1815207772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following texts in chronological order:
1. An Essay of Dramatic Poesy 2. An Apology for Poetry
3. Culture and Anarchy 4. Preface to Shakespeare

Options :
2143
1. ¥

4,3,2,1
2. %

23,14
3. %

2,3.4.1
4. %

Question Number : 61 Question Id : 1815207773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The rhyme scheme of a Petrarchan sonnet is

Note: For this question, discrepancy is found in question/answer. Full Marks 1s

being awarded to all candidates.
Options :

| ABAB BCBC CDCD EE

5 ABEABBAA CDECDE



3 ABAB CDCD EFEF GG

4 ABBAABAA CDCCDC

Question Number : 62 Question Id : 1815207774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Horace Walpole is associated with the novels.

Options :

historical

gothic

romantic

picaresque

Question Number : 63 Question Id : 1815207775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Poetic Justice’ means

Options :



the kind of justice one hopes to see done in poetry and allied arts

5 departure from conventional justice effected by poets and artists

3 'Well-deserved reward or retribution for a character in art

the kind of justice poets are remiss in dispensing in their art
4. %

Question Number : 64 Question Id : 1815207776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A word which can be read forward and backward in the same way is known as
Options :

oxymaoron
1. %

palindrome
2.¥

zeugma

uibble
4. # q

Question Number : 65 Question Id : 1815207777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Who wrote Dr Samuel Johnson's biography?

Options :

Joshua Reynolds
1. ®&

James Boswell

David Garrick
3. %

Oliver Goldsmith
4. #

Question Number : 66 Question Id : 1815207778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sprung Rhythm is associated with
Options :
Robert Bridges

1. %

George Eliot

2. #®

Richard Lovelace

G M Hopkins
4.

Question Number : 67 Question Id : 1815207779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following:

a. parable I. chronologically ordered events

b. fable ii. story with animals as characters

c. plot iii. story illustrating a spiritual lesson

d. allegory iv. a surface story with a hidden story underneath
Options :

a-iii, b-ii, c-i, d-iv
1. v

a-i. b-ii, c-iv, d-iii

2. %

3 a-i. b-iii, c-iv, d-ii
a-iv. b-i, c-iii, d-ii

4. %

Question Number : 68 Question Id : 1815207780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which year was the Bible translated into English for the first time?

Options :

1352
1. %

1382

N

2.¢

1358



1385

Question Number : 69 Question Id : 1815207781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who serves God best, according to John Milton?
Options :

| those who pray relentlessly

those who help others

those who are blind

those who bear his mild yoke
4.9

Question Number : 70 Question Id : 1815207782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these is NOT a dramatic monologue?
Options :
“Lotos Eaters”
1.

“Andrea del Sarto”



“The Love Song of Alfred J Prufrock”

“Fra Lippo Lippi”

Question Number : 71 Question Id : 1815207783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The title of Thomas More's Utopia stands for
Options :

a place that is not
1.v¥

an ideal state
2.

a new place
3. &%

a remote place
4. %

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.

Question Number : 72 Question Id : 1815207784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who among the following had a great influence on George Bernard Shaw?
Options :



William Archer

Frank Harris

3 Henrik Ibsen

A W Pinero
4, %

Question Number : 73 Question Id : 1815207785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following:

a. \Weeping woods i. metaphor
b. My love is like a red, red rose ii. anaphora
¢. Hope is the thing with feathers iii. transferred epithet
d. Give me liberty or give me death Iv. simile
Options :
- a-i b-iv  c-ii  d-iii
a-ii bl c-i d-iv
2. %
- a-iv  b-ii c d-ii
a-iii b-iv  c- d-ii
4. v

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks for this question if any of the correct options are
chosen.



Question Number : 74 Question Id : 1815207786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The expression ‘passed away’ for ‘he died’ is an example of
Options :
euphuism

1. %

. euphemism

eulogism

syllologism
4. %

Question Number : 75 Question Id : 1815207787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A pantomime is a form of:
Options :

_ ode
l. ®

) « drama

novel

elegy



Question Number : 76 Question Id : 1815207788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the author with the literary period:

a. Jane Austen i. Enlightenment period
b. Elizabeth Barrett Browning ii. Jacobean period
c. Aemilia Lanyer iii. Romantic period
d. Aphra Behn iv. Modern period
e. Virginia Woolf v. Victorian period
Options :
a-iii, b-v, c-ii, d-i, e-iv
1. v
a-iii, b-ii, c-i, d-v, e-iv
2. %
a-i, b-ii, c-iv, d-iii, e-v
3. %
a-iii, b-iv, c-v, d-ii, e-i
4. %

Question Number : 77 Question Id : 1815207789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who was NOT among the "Sons of Ben'?

Note: For this question, discrepancy is found in question/answer. Full Marks 1s
being awarded to all candidates.

Options :



Thomas Nabbes

Thomas Killigrew

John Suckling

William Cavendish

Question Number : 78 Question Id : 1815207790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following books with their authors:

a. George Eliot i. The Jew of Malta
b. Daniel Defoe ii. Paradise Regained
c.. T S Eliot iii. Daniel Deronda
d. Christopher Marlowe iv. The Luck of Barry London
e. John Milton V. Four Quartets
f. William Thackeray vi. Robinson Crusoe
Options :
a-ii, b-vi, c-v, d-iii, e-ii, f-iv
1. %
a-vi, b-iii, c-v, d-iv, e-ii, f-i
2. %

a-iii, b-vi, ¢-v, d-i, e-ii, f-iv
3. %



a-iii, b-vi, c-v, d-ii, e-iv, f-i
4. ®

Question Number : 79 Question Id : 1815207791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Chronologically, which of these periods came last?
Options :

Elizabethan Age

Caroline Age

Jacobean Age

Georgian Age
4. %

Question Number : 80 Question Id : 1815207792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following periodicals and their founders:

a. The Tatler I. Oliver Goldsmith
b. The Rambler ii. Joseph Addison
c. The Bee lii. Samuel Johnson
d. The Spectator iv. Richard Steele

Options :



a- i, b-ii, c-iii, d-iv

1. #

a- iv, b-iii, c-i, d-ii
2.9

a- iv, b-iii, c-ii, d-i
3.

a- iv, b-ii, c-iv, d-iii
4. %

Question Number : 81 Question Id : 1815207793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who edited Tales from Shakespeare?
Options :
William Hazlitt

Hazlitt and Lamb

Charles Lamb
3. %

Charles and Mary Lamb
4. <

Question Number : 82 Question Id : 1815207794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following novels is written in the first-person point of view:
Options :
The Gulliver's Travels
1. v

Pride and Prejudice
2. %

Mayor of Casterbridge
3. %

Mrs. Dalloway
4. %

Question Number : 83 Question Id : 1815207795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Pick the odd one out:

Options :

Seamus Heaney
1. %

W. B. Yeats
2. %

George Bernard Shaw
3. %

D H Lawrence
4.



Question Number : 84 Question Id : 1815207796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The prototype of modern angry young man in the play “Look Back in Anger”:

Options :

Cliff Lewis

1. &

~ Colonel Redfern
2. ®

Jimmy Porter
v

Hugh Tanner

4. #

Question Number : 85 Question Id : 1815207797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“One is not born a woman but becomes one,” is a statement made by:
Options :
Mary Wollstonecraft

Simone de Beauvoir
2.9

Elaine Showalter

4 s bell hooks



Question Number : 86 Question Id : 1815207798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Congreve's The Way of the World is a
Options :

Comedy of Manners
1.v¥

Comedy of Humours

2. 8

Dark Comedy
3. %

Farce
4. #

Question Number : 87 Question Id : 1815207799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these novels are written by Laurence Sterne?
Options :

Sentimental Journey &Jonathan Wild

Tristram Shandy & Sentimental Journey
2.¢

; Peregrine Pickle & Tristram Shandy



Meoll Flanders & Roderick Random

Question Number : 88 Question Id : 1815207800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these novels is written by Charlotte Bronte?
Options :
Persuasion

1. &

Middlemarch

Villette
3.¢

Mansfield Park

4. #

Question Number : 89 Question Id : 1815207801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following poet-poem combinations is NOT correct:

Options :
John Donne- “Death Be Not Proud”

T. S. Eliot -“East Coker”

2. ®



John Dryden — “"Essay on Man”

Elizabeth Barrett Browning — "How Do | Love Thee”

Question Number : 90 Question Id : 1815207802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following author-book combinations is correct?

Options :

| % Oliver Goldsmith- Murder in the Cathedral

William Beckford-Look Back in Anger

2. ®

Ann Radcliff-The Mysteries of Udolpho
3.¢¥

Walter Scott-The Importance of Being Earnest
4. %
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Read the poem given below and answer the questions that follow.
Fire and Ice

Some say the world will end in fire,
Some say in ice.
From what |'ve tasted of desire
| hold with those who favour fire.
But if it had to perish twice,
| think | know enough of hate
To say that for destruction ice
Is also great
And would suffice.
Robert Frost

Sub questions

Question Number : 91 Question Id : 1815207804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The repetition of the phrase ‘Some say’ in the first and second line is an example
of .

Options :

alliteration

apostrophe
2. % P P

antithesis

anaphora
4. %



Question Number : 92 Question Id : 1815207805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the central idea of the poem?

Options :
1w desire

) apocalypse

hate

new beginnings
4. %

Question Number : 93 Question Id : 1815207806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of these words is NOT a synonym of the word ‘suffice’ in the poem?
Options :

 abundant
1. %

enough
2. &%

scarce

copious
4. # P

Question Number : 94 Question Id : 1815207807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
What does Frost compare ‘fire’ and ‘ice’ to?
Options :
hatred

desire and hate
2.4

desire

envy and greed

Question Number : 95 Question Id : 1815207808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of these words describes the tone of the poem?
Options :

bleak
1.

euphoric

passionate

humorous

Sub-Section Number : 3
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Read the passage given below and answer the questions that follow.

At the height of the Enlightenment, men influenced by the new political theories of
the era launched two of the largest revolutions in history. These two conflicts, on two
separate continents, were both initially successful in forming new forms of government.
And yet, the two conflicts, though merely a decade apart, had radically different
conclusions. How do two wars inspired by more or less the same ideals end up so
completely different? "Why was the American Revolution largely a success and the French
Revolution largely a failure?

Historians have pointed to myriad reasons. However, the most frequently cited are
worth mentioning. For one, the American Revolution was far removed from the Old World;
that is, since it was on a different continent, other European nations did not attempt to
interfere with it. However, in the French Revolution, there were immediate cries for war
from neighboring nations. Thus, the French had the burden not only of winning a
revolution but also defending it from outside. The Americans simply had to win a
revolution.

Secondly, the American Revolution seemed to have a better chance for success
from the get-go, due to the fact that Americans already saw themselves as something
other than British subjects. Thus, there was already a uniquely American character, so,
there was not as loud a cry to preserve the British way of life. In France, several
thousands of people still supported the king, largely because the king was seen as an
essential part of French life.

Finally, there is a general agreement that the French were not as unified as the
Americans. The French, despite their Tennis Court Oath, could not do so. Infighting led to
inner turmoil, civil war, and eventually the Reign of Terror, in which political dissidents
were executed in large numbers. Additionally, the French people themselves were not
unified. The nation had so much stratification that it was impossible to unite all of them -
the workers, the peasants, the middle - class, the nobles, the clergy - into one cause. And
the attempts to do so under a new religion, the Divine Cult of Reason, certainly did not
help. The Americans, remember, never attempted to change the society at large: rather,
they merely attempted to change the government.

Sub questions



Question Number : 96 Question Id : 1815207810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who tried to change the society in general?
Options :

| The Americans

) The French

Both

Neither

Question Number : 97 Question Id : 1815207811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The word ‘'myriad’ used in paragraph 2 means:
Options :
L innumerable
million

mysterious

magnificent
4. %



Question Number : 98 Question Id : 1815207812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the above passage, the Reign of Terror led to the
Options :

L % the nation’s stratification.

putting aside of people’s political differences.

3 the large-scale killing of the dissenters.

y founding of a new religion.

Question Number : 99 Question Id : 1815207813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Both the revolutions in two different continents
Options :
failed in the beginning.

1. %

failed at the end.

5 @ Were successful in the beginning.

, were successful at the end.

Question Number : 100 Question Id : 1815207814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which period disseminated the new theories that were responsible for both the
revolutions?

Options :
The Reformation
1. %

v The Enlightenment

The Renaissance
3. %

4w The Reign of Terror



